ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

-—Ew e
i

”LLG#‘_

LA

) ‘ o} JLILIL

60°

" 28691-W

90°

60°

90° JIS METRIC FEMALE 60° CONE SEAT

Lo s st . JIC METRC MALE60° CONE SEAT

o2 28611 s 28611-W

PART Number = HOSE BORE DIMENSIONS

THREAD E DN DASH C S1 S2
28611-12-04 M12x 1.5 04 20 9 17 17
28611-14-04 M14x 1.5 04 21 10.5 19 19
28611-14-06 M14x 1.5 10 06 21 10.5 19 19
28611-16-04 M16x 1.5 04 24 10 22 22
28611-16-05 M16x 1.5 05 24 10 22 22
28611-16-06 M16x 1.5 10 06 24 10 22 22
28611-18-06 M18x 1.5 10 06 25 11.5 24 24
28611-18-08 M18x 1.5 12 08 24.5 11.5 24 24
28611-20-08 M20x 1.5 12 08 28.5 12 27 27
28611-22-08 M22x 1.5 12 08 25.5 14 27 27
28611-24-08 M24x 1.5 12 08 27.5 15 32 32
28611-24-10 M24x 1.5 16 10 28.5 15 32 32
28611-27-10 M27x 1.5 16 10 28.5 10 32 32
28611-30-12 M30x 1.5 20 12 28.5 18.3 36 36
28611-33-12 M33x 1.5 20 12 31 21.3 41 41
28611-33-16 M33x 1.5 25 16 32 21.3 41 41
28611-36-20 M36x 1.5 32 20 35.5 20 46 46
28611-42-24W M42x 1.5 40 24 36 18.8 50 55
1. 2. 28612-XX-XX.

Note:1.For use with braided house

2.If use with spira house,hose fitting serise numberis28612-xx-xx

HOSE BORE DIMENSIONS

PART Number THREAD E DN DASH C H

28691-14-04 M14x 1.5 6 04 30 10.5 38 19 19
28691-14-06 M14x 1.5 10 06 35.5 10.5 43.3 19 19
28691-16-05 M16x 1.5 8 05 33 10 44 22 22
28691-18-06 M18x 1.5 10 06 35.3 11.5 46.3 24 24
28691-22-08 M22x 1.5 12 18 41 14 52.5 27 27
28691-24-10 M24x 1.5 16 10 56.5 15 59 32 32
28691-30-12 M30x 1.5 20 12 65.5 18.3 68.58 36 36
28691-33-16 M33x 1.5 25 16 76.7 21.3 76 41 41
28691-36-20 M36x 1.5 32 20 93 20 90 46 46
28691-42-24W M42x 1.5 40 24 109.4 18.8 103 50 55

1. 2. 28692-xx-xx

Note:1.For use with braided house

Note:1.For use with braided house

(Tel) 86-574-8847111

2.1f use with spira house,hose fitting serise numberis28642-xx-xx.

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

= 45° 60°
45° JIS METRIC FEMALE 60° CONE SEAT
28641-W
= HOSE BORE DIMENSIONS
PART Number THREAD E DN DASH A C H S1 S2
28641-14-04 M14x 1.5 6 04 43.4 10.5 21.3 19 19
28641-16-05 M16x 1.5 8 05 47.6 10 24.3 22 22
28641-18-06 M18x 1.5 10 06 49.2 11.5 24.9 24 24
28641-22-08 M22x 1.5 12 08 262.1 14 27.2 27 27
28641-24-10 M24x 1.5 16 10 74.4 15 29.9 32 32
28641-30-12 M30x 1.5 20 12 80.9 18.3 33.5 36 36
28641-33-16 M33x 1.5 25 16 89.9 21.3 35.7 41 41
28641-36-20 M36x 1.5 32 20 104.1 20 41.9 46 46
28641-42-24W M42x 1.5 40 24 116.2 18.8 45.5 50 55
1. 2. 28642-xx-XX

2.I1f use with spira house,hose fitting serise numberis28692-xx-xx.

Y S
i ‘H ;:I: LELHLI] ] = " {_"—;_[Ull[mlf_l] 0 o
i 9 = JIC GAS FEMALEG60° CONE SEAT
T m s2/ &I JIS B8363
29611 29611-W
PART Number E HOSE BORE DIMENSIONS
THREAD E DN DASH A C S1 S2
29611-02-03 G1/8"x 28 5 03 20 7 14 14
29611-04-04 G1/4"x 19 6 04 21 8 19 19
29611-04-05 G1/4"x 19 8 04 21 8 19 19
29611-06-04 G3/8"x 19 6 04 24 9 22 22
29611-06-06 G3/8"x 19 10 06 23 9 22 22
29611-08-06 G1/2"x 14 10 06 28 12 27 27
29611-08-08 G1/2"x 14 12 08 26.5 12 27 27
29611-10-10 G5/8"x 14 16 10 31 11.5 30 30
29611-12-10 G3/4"x 14 16 10 28.5 13.5 32 32
29611-12-12 G3/4"x 14 20 12 28.5 13.5 32 32
29611-16-16 G1'x 11 25 16 33 16 41 41
29611-20-20W G1.1/4"x 11 32 20 43 18.5 50 50
29611-24-24W G1.1/2"x 11 40 24 43.5 19 55 55
29611-32-32W G2"x 11 50 32 43.5 23 70 70
1. 2 29642-xX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

(Fax) 8

6-574-8847116

2.1f use with spiral house,hose fitting serise numberis29642-xx-xx.

(URL) Http //www.ardyy.com




ANERDAHYDRAULIC

SWAGED HOSE FITTING

ANERDAHYDRAULIC

SWAGED HOSE FITTING

[

29641-W

45°

60°

45° JIS GAS FEMALE 60° CONE SEAT

JIS B8363

20011-T
METRIC FEMALE WATEERWASH INSERTS
E HOSE BORE (0) DIMENSIONS
PART NO. THREADE DN DASH O RING A b D
20011-22-04T M22X1.5 6 04 010.0X2.0 25 14 34.5
20011-22-05T M22X1.5 8 05 010.0X2.0 32.7 14 34.5
20011-22-06T M22X1.5 10 06 010.0X2.0 28 14 34.5

HOSE BORE DIMENSIONS

PART Number THREAD E DN DASH H

29641-04-04 G1/4"x 19 6 04 43.4 8 21.3 19 19
29641-06-06 G3/8"x 19 10 06 48.9 9 24.6 22 22
29641-08-08 G1l/2"x 14 12 08 62.5 12 27.5 27 27
29641-12-12 G3/4"x 14 20 12 81.3 13.5 33.9 32 32
29641-16-16 G1"x 11 25 16 87.3 16 36 41 41
29641-20-20W G1.1/4"x 11 32 20 107.3 18.5 46.5 50 50
29641-24-24W G1.1/2"x 11 40 24 122.8 19 50.8 55 55
29641-32-32W G2'x 11 50 32 143 23 60 70 70

1. 2. 29642-xXX-XX.

Note:1.For use with braided house

2.I1f use with spiral house,hose fitting serise numberis29642-xx-xx.

[ 5] (A

60011 60012

MT STAPLELOCK MALE

90° 60°

90° JIS GAS FEMALE 60° CONE SEAT

JIS B8363

£ g
29691-W
= HOSE BORE DIMENSIONS
PART Number THREAD E DN DASH A C H S1 S2
29691-04-04 G1/4"x 19 6 04 30 8 38 19 19
29691-04-05 G1/4"x 19 8 05 33 8 41 19 19
29691-06-06 G3/8"x 19 10 06 35.3 9 45.8 22 22
29691-08-08 G1/2"x 14 12 08 41 12 53 27 27
29691-10-10 G3/8"x 14 16 10 56.5 11.5 61 30 30
29691-12-12 G3/4"x 14 20 12 65.5 13.5 69 32 32
29691-16-16 G1"x 11 25 16 76.7 16 76.5 41 41
29691-20-20W G1.1/4"x 11 32 20 91.5 18.5 92.5 50 50
29691-24-24W G1.1/2"x 11 40 24 109.4 19 110.5 55 55
28691-32-32W G2"x 11 50 32 131.8 23 133.8 70 70
1. 2. 29692-xX-XX.

Note:1.For use with braided house

(Tel) 86-574-8847111

2.I1f use with spiral house,hose fitting serise numberis29692-xx-xx.

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com

HOSE BORE DIMENSIONS
PART NO. DN C J
60011-04-04 6 04 31 25 15 11
60011-05-05 8 05 33.5 26 18 13
60011-06-06 10 06 33 26 18 15
60011-08-06 10 06 33.5 26 22 18
60011-08-08 12 08 34 26 22 18
60011-10-10 16 10 39 30 25 20
60011-12-12 20 12 40.5 31 28 24
60011-16-14 22 14 41 31 35 30
60011-16-16 25 16 42 31 35 30
1. . 60012-xx-Xx
Note:1.For use with braided hoses. 2.If use with spiral hoses,hose Fitting Series Number Is 60012-xx-xx
L = 67011 67012
J: | | | !J_H. -LH:“-[[,-ID_L—"J SAE
- SAE STAPLELOK MALE SAE J1467
HOSE BORE (o) DIMENSIONS
PART NO. DN DASH O RING A C J K
67011-04-04 6 04 006.0X2.0| 34 28 14.9 9.9
67011-06-06 10 06 010.0X2.0| 35 28 19.9 13.9
67011-08-08 12 08 013.0X2.5 36 28 23.9 17.9
67011-12-12 20 12 019.0X2.5| 37.5 28 28.9 23.9
67011-16-16 25 16 025.0X2.5| 44 33 38.8 30.9
67011-20-20 32 20 033.0X2.5| 44 33 45.9 37.9
67011-24-24 40 24 040.0X3.0| 47.5 36.3 54.9 46.9
67011-32-32 50 32 050.0X3.0| 47.5 36.3 63.9 55.9
1. 2. 67012-xX-XX

Note:1.For use with braided hoses. 2.If use with spiral hoses,hose Fitting Series Number Is 67012-xx-xx

(Tel) 86-574-8847111

(Fax) 86-574-8847116

(URL) Http //www.ardyy.com




